dB-Killer n® 80
P/N 3015602801

Titanium Muffler —Carbon Bracket
P/N 3015602471U P/N 0815602502
—S.S. Plate
P/N 207181

Alu Spacer 2x Screws

@22 28,5 h.11 M6 x 12 Ef/SN %rg]%kéf;%o]

P/N 205090 | P/N 201265
Allen Screw 2x Flange Nuts M8
M8 x 20 : o P/N 200298
P/N 200722 \/i‘

o

? 2x Alu Spacers

bike's frame @29-223.5 @8.5 h.7

q Alu Spgcer P/N 205153

Allen Screw @27 D8,5
M8 x 45 P/N 204321
P/N 201450

@i.54\V 35

2x Mounting Plate M5
P/N 204555

@De.54,00

S.S. Pipe n°1491
P/N 3015603201

Carbon Heat Shield
P/N 0815607001 2x Screws
M5 x 12
P/N 201031

2x Washers Short Spring /@e.SO]V 36

D15 D5 P/N 3039249001
P/N 406580

4x Gaskets
D14 D4,9 h.1,5
P/N 200371

ART. 15603TU
KAWASAKI 2900

SLIP-ON - LV-14R - TITANIUM



	15603TU
	Vista del disegno25
	Vista del disegno26


